g
S| N
Jl— ﬂ
h = S
0 3
* Q
-l ° qw
— o s
& FOE & N
J
5
N o o
+ %/ 9 o <
X X M
— 3
~ S ~
~N
3 2 £- 97 P "
67 . 7+ &
£/ S
.
( L8 <
s
— S
mi . N o N
— 9 N 5
~ S
| ON® = LO =
£
g€ E
=
\ ( ) 2l
| 77 80€
< N o
o +| |
oY 4 Rl o @@\1
N ~
5 T B
Q A o,zo
y 0 b J\
r C 77 LE ~
N§
oG o 17 07 _
<< O 3 -9 N
< S S .»l- o - A SN Q
~ o [ ~N | ~
- 00€ e o
77 Ll N
\ = p
] A% nmw\ &
o + 0¢l N
L ~
N
Eli
S L0 i B -
: A%\N , 08! =N
~ 77 S7 - AV 77 05
© 77 LU [ 794 <C ~
S 27 OFl 09C
77 Y€l 2t
pwop n upol |vehp N gHy W ‘gHn wnpegl Dpwpp n upoy | VPOU N GHU




0098 94D MNHTGYDYIIWA

flodn. v dama

F3aum. uHB. M MHB. N dyon.

[lodn. u dama

nHbB. N noadn.

V13M

/lucm

N dokym

[Todn.

/lama

YmeibasnbHuk Care G600

/lucm




	1
	Чертежный вид1
	Разрез А-А
	Чертежный вид3
	Местный вид Б (1 : 1)
	Разрез С-С
	Чертежный вид6
	Чертежный вид7
	Чертежный вид8

	2
	Чертежный вид9


